H & 0l & AHS B Ml A

T A EERE)
A - ZE - S2A(3H) - NISAY - BES2 Oi &F2H N3 A Hws2
26,084,826 16,019,307 10,065,519
= 266,000 266,000 0
Al 25,818,826 15,753,307 10,065,519
T Al zel 2,712,662 2,121,862 590,800
< 266,000 266,000 0
Al 2,446,662 1,865,862 590,800
ALT A 1,967,662 1,543,862 423,800
= 266,000 266,000 0
Al 1,701,662 1,277,862 423,800
EN-NEEE 607,000 373,000 234,000
401 AIZHILE | 607,000 373,000 234,000
01 Alb| 606,280 373,000 233,280
DISA4E 9ASQD| AlY HE 20,000 0 20,000
DISAST 2OHAIL &X| 30,000 0 30,000
DISA4E XIGte FEEEA 64,000 0 64,000
DISA4E 2ATBSAIM 40,000 0 40,000
D4 DISA4E 293 DA 79,280 0 79,280
03 Al&=CH| 720 0 720
D4 DISA4E 293 DHSBA 720 0 720
ARG Al (REA) 844,600 654,800 189,800
401 AIEHILEHH| 594,600 404,800 189,800
01 Al 592,728 402,928 189,800
TR Al eASe)| AL 20,000 0 20,000
=C SHXY AL HY DA 150,000 0 150,000
AT TAXY AL HSTA
(£9ZHD| DA 34) 19,800 0 19,800
GG 2EINA 745,000 578,000 167,000
AR BRHEHLIAL 2L 745,000 578,000 167,000
201 LBt 290,000 123,000 167,000
02 B2 290,000 123,000 167,000
ATR ZTZELHUANE 2223
(HIISA S) 290,000 123,000 167,000
HH2HAY| 9,500 9,000 500
=2 9,500 9,000 500
PIIET] 500 0 500
202 Ot 500 0 500
01 2U0ib| 500 0 500
SE0HI(2U) 500 0 500
se 23,362,664 13,888,445 9,474,219
S IENES 23,362,664 13,888,445 9,474,219
TP ENES 23,362,664 13,888,445 9,474,219
701 JIEtE IS ES 23,362,664 13,888,445 9,474,219




A =&
M WHREs
&2l WRHHXS (CH9: &S1)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HnsZ
03 SIIEELIAHNNBEES 23,362,664 13,888,445 9,474,219
22HNE S22 EXIAY 396,000 0 396,000
SN AR O 241,500 0 241,500
HASOUHE NP AIESA 295,500 0 295,500
L& M2 AMEAY 500,000 0 500,000
SBHA SE&+S HUI(SUSAY) 1,660,786 1,656,471 4,315
SO AT AXISAL 250,000 0 250,000
=1, siidelz7(8a02) d+=2=2 &X
ArS 1,722,000 360,000 1,362,000
SI - ASXHeZR(ZFZ0tS) o2t FHl 1,422,000 0 1,422,000
&ICH22] Sh=2t] A XIAHY 229,000 30,000 199,000
2ot=xels MOISA 490,904 0 490,904
Ol&tH ==X XIS AL 2,300,000 1,000,000 1,300,000
SES el == AIESA 50,000 0 50,000
HZJI= Hels=3AtHl XIZ A 200,000 0 200,000
HH+2ZHE ot=Xel= HOISAY 0 20,000 £20,000
St=2t 1 EH| LHE SIXALE (BTL) AIA
Atz 1,003,000 500,000 503,000
U&= 2 St=HelE(BT0) AIE22 | 2,100,000 1,000,000 1,100,000
L2782 S3oHH2AE Ze|HE IS 1,600,000 840,000 760,000
=£36s FHOIS ol==HMelAlE 22l
FIEHI 120,000 70,000 50,000
=532/ (0/10k10tE) St=2t2 HUIAY (2Xt) 950,000 900,000 50,000
ZE2S ot=22 UMY 320,000 0 320,000




